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Let [n] = {1,2,...,n}. The notation dln means d divides n. g.c.d(n,t) is the greatest
common divisor of n and t.

1. How many ways of selecting r integers in [n] such that no two of selected integers
are consecutive?

2. Determine the number Z Z |A N B| for each positive integer n, and then

AC|n] BC[n]
prove your answer.

J. Determine the number |{(A;, A, ..., 4¢) | UF; 4i = [n]}].

4. Let Ay, Ay, ... , A, be subsets of S and 2t < n, and note that the intersectidn of
no subsets of S is interpreted as S. Show that \
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5. The Euler function ¢ : N — N is
#(n) == {1 <t <n|ged(nt) =1}

for n € N. Show that 3, ¢(d) = n.



